REMEDIAL HOLYDAY PACKAGE SENIOR TWO-MATH
PART I
1.a) A father is nine times the age of his son. In five years will be four times the ages of his son. How old are they now? 
b) A survey was carried out in a shop to find out how many customers bought bread, milk, both or neither. Out of total of 79 customers for day, 52 bought milk, 32 bought bread and 15 bought neither.
Draw a Venn diagram to show this information and use it to find out 
       a) How many customers bought both bread and milk?
b) How many customers bought bread only?
c) How many customers bought milk only?
2. a) Given that (2x+ay)2=bx2+cxy+16y2. 
      Find the values of a, b and c
  b) Given that f(x)=ax3+ax2+bx+12 and that f (-2) =f (3) =0 find the values of a and b. 
c)find the values of m and n if the polynomial p(x)=2x3+mx2+nx+10 
has-2 as the root and also 2x-1 is a factor of p(x) 
[bookmark: _GoBack] i)factorize completely p(x)
 ii)Deduce the roots of the equation p(x)=o

3 .Simplify:                                                                      
4.Given that: a+    , find the values of a and b.                 
5.Solve for x:  –                                                                
6.Solve the equation 5x2+21x-20=0                                                
7a.Rationalize and simplify completely                                 

b. Rationalize and Calculate:       		                     
c.Express 180633600 as a product of prime factors.
     Hence find the square root of 180633600.                             

Q8.Simplify completely  :                                                                    
            
Q9. Simplify and express  in  standard  form:                          
                                                                                   
 Q10. Calculate + -                        
  Q11.Without using a calculator, Simplify:  - -4 + .       
  


Q12. Simplify:  a    .                                                          
                        b)                                                 
 Q13. Without using a calculator, find the exact value of:
           a)                                                        
            b)                                                                                                            PART II
                
 Q1.a) if m-2, n5 and x-3, calculate the value of xm2+2n-mnx.                       
         b) Expand and simplify                                                    
         c) Given that: (27)3x (81)2+x, find the value of x .                      
Q2. (a) Solve for x:	6                                                                          
         (b) Simplify:  -  +                                                         
          (c) Find a, b and c in  equation ax2+(b-4)x+2c-2x2-5x+6                           
Q3.Assume f(x) 4x3-7x2-21x+18, a polynomial 
      a) Calculate f (-2)                                                              
               b) Factorise f(x)                                                                
               c) Solve f(x)0                                                                                                       

 Q4. Given the polynomial p(x) 9x4-36x3+29x2+14x.
        (a) Determine 2 real numbers a and b if p(x) a(x2-2x)2+b(x2-2x)                                  
        (b) Deduce the factorization of p(x)                                              
        (c)solve p(x) 0                                                                           

Q5. A sample of 100 men was taken to find out how many were literate (L), married (M) or had job (J).
The following were the findings: n (L) =47, n (M) =59, n (J) =52, n (. And 14 men were literate, unmarried and without job.
a. Represent this information on Venn a diagram.
b. Determine the number of men who were
i) Literate married and had job.
ii) Neither literate nor married


Q7. Given that 
a) find value of a,b and c

b) Hence,divide by x+2,what is the remainder?

C) factorize 
Q8. Given that  and  find:                                   
a) 
b) 
Q9.Simplify the fraction:                                                       
Q10.Solve for  in the equation:                                             


Marrychrismas and happy new year!!!!!!!!!!!!!!!!!!!!!!!!!!
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